



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{3}{5} =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{109}{250}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{1}{2}\right) = \frac{1}{16}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{71}{216}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{13}{40}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{17}{125}\right)$$

$$\left(-\frac{3}{4}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{3}\right) = \frac{4}{15}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{1}{6}\right) + \frac{1}{4} = \frac{5}{12}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{4} = \left(-\frac{21}{100}\right)$$

$$\left(-\frac{3}{4}\right)^3 + \frac{1}{2} = \frac{5}{64}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{61}{80}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{3} = \frac{11}{48}$$

$$\left(\frac{1}{6}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{13}{30}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{9}{100}\right)$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{59}{64}$$